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1 & #H =-HhDA 4,269.000 £
2 3 & wo—ib 3,597.587 £
3 =3 A FL 3,576.000 =
4 3 E W UAPE 3484412 £
5 =3 BEbIH | 3,372.000 =
6 3 E IF AH 2,903.000 £
7 & hif LOR 2,843.088 E
8 3 E PELNE ER 2,808.000 £
9 & BT hT=h 2,794.000 £
10 =3 #FIL LITS 2,552.000 =
11 & 'l HEVL& 2,549.000 £
12 g = BEO2M AEF 2,471.000 =
13 g = INK T E 2,454,000 =
14 =3 E 5% 2,440.000 =
15 & AN #Hhim 2,404.000 £
16 g = X a2 2,311.138 £
17 3 E FAZS BR 2,188.000 £
18 =3 FiR SHUVZ 2185911 =
19 — 22y & 2,148.000 £
20 g = iy Ypo50L 2,142.000 =
21 g = BIE & 2,141.000 =
22 =3 i LGHEpE 1,999.062 =
23 3 E & LALYS 1,967.937 =
24 =3 BHF béb 1,888.000 =
25 3 E (AE SO - 1/ 1,823.000 =
26 g = BH LALSLAS 1,822.000 =
27 & #%HE UThOY 1,705.000 =
28 3 E Bl FH 1,678.509 =
29 H & HWH FdH 1,656.490 =
30 = 1Tp: NEPT-L 1,597.861 =
31 % B Yt f=hES 1,405.000 =
32 * = AR —E 1,356.000 %
33 % & Bl f=mhZ 1,095.000 =
34 % 2 BTE & 405.000 =
35 % = HEh Eig 177.000 E
B E ¥ G 78,208.995 =
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